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Music for a Found Harmonium
from Penguin Café Orchestra Suite

© 1987 Editions Penguin Café Ltd.
                           This arrangement © 2020 Editions Penguin Café Ltd.

Printed under licence by C. F. Peters Corporation, New York                               Edition Peters 68707

Allegro q = c.104

Simon Jeffes
arranged by Phillip Littlemore

Piccolo 

Flutes 1&2 

Oboes 1&2 

Eb Clarinet 

1 

Bb Clarinets 2 

3 

Bass Clarinet 

Bassoons 1&2 

Alto Saxophones 1&2 

Tenor Saxophone

Baritone Saxophone

Bb Trumpets 1&2  

Horn in F 1&2 

Horn in F 3&4 
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Tuba 
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Xylophone
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